Number of events (e+jets channel)

Process Ot 1t0b 1t1b
tt 10710 £940 2840+ 120 2670+ 66
Singlet 2270 £ 400 191 + 47 107 £+ 24
W+jets 13950 + 1740 1450 + 190 62 + 12
Z+jets 1070 £ 300 118 + 37 17+ 15
Diboson 370+ 110 2247 2+1
Multijet 3200 £ 740 242 + 80 31+ 30
Total 31600 4+ 2200 4850 4250 2889 4+ 79
Data 31559 4801 2953
Process Number of events (y+jets channel)

Ot 1t0b 1t1b
tt 16800 £ 1400 4250+ 170 3905 =+ 80
Singlet 3290 £ 590 282 + 68 153 + 34
W+ets 231004+ 2900 2370+ 320 105+ 20
Z+jets 2580 %+ 680 234 + 69 19+ 10
Diboson 560 % 160 31410 2+1
Multijet 2800 &£ 1200 159 + 76 43 4+ 22
Total 49100 + 3500 73204380 4228 +93

Data

49137 7348 4187



